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SUMMARY
The design of furniture tapestry fabrics with a new kind of weaves and classical tapestry 

weaves, which resulted in the formulas for determining of the warp and weft shrinkage is 
fulfilled. The proposed formulas for calculating the yarns shrinkage in fabrics in the 
developed weavings are recommended, as the results of theoretical calculations of yarns 
shrinkage values in the fabric are brought in to accord with the data obtained 
experimentally. The warp threads of different sets of tapestry weaves, rotated by 90 º, have 
more uniform values of shrinkage than shrinkage of warp threads of classic tapestry 
weaves, which reduces breakage of the warp threads, increases weaving equipment 
productivity.
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.� ����	�S��� ���	��� �	����
���� ������� ������	���� ����
�
#��	��
������������	�� �	��
�� �	
�����
��	�� �������������	�� ������� �� ��
'������� ��
��#� ����	��	
���'S�!� ��	�
��	��� ��	� �	��	
���� ��� ������� ��	�����	������
	��������	�������������������	��	�	����

.� ����	�S��� ���	�� ����
	
���� ����
�
#����� ��������������� �	��
��
�	
�����
��	�� �������� �����	�� ������� �� ��
'������� �� ��#� ����	��	
���'S�!�
��	�
��	��

T�	���
���������������������$�����?&��	��	�����������	���	
	����?����	���	
��
%��� 
����	�������
��4��������
#��	�	������	���	
��

"����	��?�– +!������	���
���	�������	��������

U������� �	
	���� ?� �	�������� ����
������� �	
������� �	�� ���������� ��
�
������������������!�����	���V����	
��������		�S�'�������������	���	
��%�������
����	��	
���'S��� ��	�
����� A�� W	�	
����
����� �	
������� ��	���	
�� %�
�		�S�'����	���������	������	����
�����������	�	��� 
����	�������
��4�

,	
������� ��	���	
�� %� ������'���� ��� 	��	������� ��� �	�	�	�� �����	�
����
������������������	��	
���'S�����	�
�����@�

T��� ���	��'S��� �����	�� ������� �	
������� �
	��	�� �
��*	���� �����	��
�	
	�������������%���	���	
���	�������������������������������V����	
����������
�	
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"����	��%�– /	��
���	
�����
���!�������6�
�&��	��
��?; �&��	��
��%; �&��	��
��4

1������ 2 ����	���
���6
m1
k

— �����������	���	
	�������7
1

m

— �	 **������������	��������	��	
���'S�!���	�
��	�������	���	
	����$�	���
A�������� 1)��10�7

2

k
— ��������	���	
���� 
����	�������
��$�	���%��4�������� 1)����7

2

P

— �	 **������������	��������	��	
���'S�!���	�
��	����	���	
�� $�	���@����
���� 1)��10�7

1

�
— ���
�������������	����
������������!�����	�������	����������17
1

P
— ��
	������	�	�����
���	�	���
�������	���	
	��������0�7

2

�
— ���
�������������	������	����
�����������	�	��� 
����	�������
���17
2

T����	
��������� ��	� ���������� ��
�� �������� ��!�����	�� �����	�� �	
	���� X-�
����������� �	� ���	��� �� = �������	�� �� �������	��������� ��
�� �������� �	�	���
 
����	�������
��— �	����	����
 = �����(��	 + �).

— ��
	������	�	�����	�	��� 
����	�������
�������0�.

"������� ���������� �	
������� ��������
���	�� �	��
�� ?� ��
������ �	����	��	�
�
	
����� �	 �	��� �����	����� �	
�������  �	�� �	��
�� �� ����� ������ �	
�������
�	
�����	���!�������6��	��
��< %����	��
��< 4�$�����%����%��&�

8����������	
��������	��
��%����������6


��� � + ��(�� � ��) = �������	, (1)


��� � + ���� � ��(�� � ��) = �. (2)

�S�������������������$?&��$%&�� ����6

�� = �������	, (3)

�� = �������	. (4)

T	�������� $4&�� $A&� �� �!� ��	���� ��	���	����� �� $?&�� $%&�� �����	����� ��
	����� ����
�	�	��!�$4&��$A&�������S�'�������	
��������.�����
�������	
�������������
������!�
���������� 	��	����
��	� A1, A2�� ������ �	�	��'� �	
����� ����
����� �
��
	�����
��������
������	
������6
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�� = �����+���
�����
����
��������+���
���������

, (5)

�� = ����
����
��������+���
���������

. (6)

8����������	
��������	��
��< 4����������6


��� � + ��(�� � ��) = �, (7)


��� � + ���� � ��(�� � ��) = �����(��	 + �). (8)

"���������������$3&��$>&��S���������6

�� = �����(��	 + �), (9)

�� = �����(��	 + �). (10)

T	��������$5&��$?=&����!���	������	���	�������$3&��$>&��������	�������
	���������
�	�	��!� $3&�� $>&� ������S������ �� �	
�������� �	
������ �������� 
������!� ����������
	��	����
��	�A3, A4���������	�	��'�	�����
���6

�� = ����
����
��������+���
����������

, (11)

�� = ����
�������
����
��������+���
����������

. (12)

+���������	
��������	��
���< %���< 4��	
����6

�� = �����	�� + �����(��	 + �), (13)

�� = �������	 + �����(��	 + �). (14)

W
����	�������	��	����	������������
���	���	��
���	
������������	���������
��	���#�� �����������
��������
��	������������#����	�����
���������	��
���%�
��4���������������
������

V�������������	���#�����������	��	������������	���������4?-�	���������	���
9P�����;� $�� (���&�� Y����� �	������
��� ����	��	�	���� ��	�	��
��� �� �	���!� Q�
�����	�� �	
	���� $���� ���� ?&� �� .� ��	���	
�� �� �	�	S�'� ����	��� .U.-003-/%� ����
����	��� ���S����� �
���	�	� ��
�� �����	�� �	
	���, ����	�� 4===� 	�0����� +R#��
��*	������� 	� ����	��	�	���� �� �	���!� Q� �� .� ��	���	��
��� ���	����	����
����
����	�����������������	��������
������W1-Y8? :8%@-7706.019->>���W1-4-/?:8%@-
7705.020-86.

"���
�����������	�����������������!�������	������
����

:��
���� — Y�������� 
	����*������	�	� ��	���� ����	��	�	���� �� �	���	
���!�
�	���! Q���.�$�	
	
���� �	������������������. 1)

/��	��	�����
����
Lv, �Q2

�	����Q��
��*	��� �	����.���	���	
�

 �����������
���� 87,5 73,5

����#���� 89 75
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W
�� ����#��� ���
����� �	
������� �	� *	���
��� $@&�� $M&�� $??&�� $?%&�� $?4&�� $?A&�
��	�!	���	����������������k1, k2, P2, m1, m2

,	 **�������������	����k
.

1, k2

+!���� ���������� �	������� ��� ���� 3 ��� 1�� ����� 3 �� 3 �� �	������� ��������
����	��	
���'S�!���	�
��	�������	���	
	����$�	�� A�������� ?&�����	���	
��$�	�� 5
������� ?&��1������	���������'������*	�������y ����	��	
���'S�!���	�
��	���	��
����������������P.

����	��	
���'S�!���	�
��	���	
�	�	�����
����
 �����������
����� ���	�	� ��� ����	��� Z1Y(-%�� �������������	� �
��
	�����
�����
#���	��������
���	�����

"����	��4�– +!���������������	 **������	�������	��������	��	
���'S�!�
��	�
��	�

T	�����
�������������������*	�������y ����	��	
���'S�!���	�
��	�������	��
�	
	���� �	���	��� ���*��� �������	���� y 	�� P $���� A&�� ��� ���*���� ����	�� ��	�

�	 **������� �����	���  ��� = ��
��       ����	��	
���'S��� ��	�
����� ��� ��
������

��
����	�� �	��	���	��� 8��������� ��	� ����	��	
���'S��� ��	�
����� A� $���� ���� 1) 
����������
��	� �
���'���� �	�� ���������� ��
�� ����� G1 �����	�� �	
	����� ��
���
�������	���S�'S����������������� P1, �����������	 **������������	����k10

:	������� = �
����
��
�
����
��

������y

����
�
#��	-�	��	������ �� ������� ��������� �������'� ��� ������	��� ����������P
	���
�� = ��

� � �� 
�   �	 �
�� = ��

� + ��
� .

max ��ymin — ���������y �
��Pmax ��Pmin, �	
�����������
���*����������� 4

"����	��A�– -��*����������	����k1 	��P
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T��������� G1 = 294,3 1, P1 = 30 1, �	
����� Pmin = 60 1�� Pmax = 90 1��
ymin = 0,515[?=-3 �7�ymax = 0,785[?=-3 �, k10 = 111,1[?=3

+��������� �	 **������� �����	���� �����#!� ����	��	
���'S�!� ��	�
��	��
�	����
���:

10��

k1 = 4 [ K10 = 444,4[?=3 10��

2��
	����	� 	�����
��	� ��������� k2 �
�� ����	��	
���'S��� ��	�
�����
��	���	
�6

k2 = 552[?=3 10��

.��	
���� ����#�� ���
����� ����
�����!� �	
������� ���� �
���'S�!� ��!	���!�
�����!6
m1 = 30 ��7� m2 = 70 ��7� �1 = 314 ���0�7� �2 = 293 ���0�7� k1 = 444,4[?=3 10���

k2 = 552[?=3 10���P1
Y�������� P

= 35 1�
1

.�����
������	�����
�������*	���
�$@&��$M&�A

�	
����	� ��� ����
����	�� ��
	�	�	� ���
���� ��!�����	�� ������!�
������4?-�	���������	���9P�����;�

1 = 13,7[?=-6 �7�A2 = 0,92[?=-6

Y��������A
��

3, A4 �	���������	�����
�������*	���
�$??&��$?%&������2 = 293 ���0����
�������	��P2�� Y��������P2 �������� 	�� ��
�����	���� �	�	���  
����	�������
�� �� ���
�	
��� ����� 	�����
��	� ��	����������� T	 �	��� 	�����
��� P2  �����������
�����
���	�	���
���	��
��3 $������� 2 �&��	
�����
��	�����������V����	��
���	
��������
�	
������� ��
�� 	��	�������� 	�� ����	��� ������'� �	
	���� �� 	�������� ��
'�#�����
 
����	�������
��� T�	��������� ������� ���
������ A3 �	
������� �� �	���� .� $����
���� ?&���	���	
�����	�	S�'�����	���.U.-003-/%� A3 = 0,5[?=-6

V�	����������' A
��

3 �	�
���	�*	���
��$??&��		�������������������

P2=
A3��k1-m1�22��k1+k2-m2�22�-k1!k2"

k2
=11,1 �.

T	�����
��� �	����������P2 ��*	���
��$?4&, �	
����

A4 = 2,24[?=-6 ��

8��������� $?4&�� $?A&� ����
�'�� ������ ����	�������!� �	
������� �	��
��� %� �� 4�
�	
�����
��	�� ��������� 2��
�������� ���������  ��!� �	
������� ��� �	���� �����
	�����
������� ��������������*��	������	
��.

.� �������������	�� �	
�����
��	�� �������� �	������'S���� ��
�'����
����	����������	
���������	�����������	��������������
��P1��W
������
�
#��	��
	��������������!��	
�������������������������
�������	
����������	���!�Q���.�
$�������� ?&����������		����������	6

����.� = �� + ��
� ;

����.	 = �� + ��
� .

.�����
�������	
����:

A���
� = 14,16[?=-6 �7�A���
	 = 2,69[?=-6 ��

.����
����� 
	����*������	�	� ��	���� ����	��	�	���� LV ����	�������!�
�	
������������������	���!����
������� ��	�����#���	�*	���
�
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#$ = ��%& $
$�

, (15)

����V— ��������	���������	�������������	�	�����	
���������0��

V = 0,707 A · �1, (16)

V0 — ���	�	�������������	�	�����	
������, V0 = 5[?=-8

W
�������
��������������A
�0��

���
� ��A���
	 �	
���� LV� = 75 �Q2��LV	 = 89 �Q2��V���
���������LV

��� ���
���� �
������� ��	� �	�����	���� ����#��	�	� ���	��� 	�����
���� L
��������������
����

V
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SUMMARY
The approximate mathematical model of sewing machine oscillating system with 

insertion of vibration-insulated padding was developed.
The mathematical model as a system with two freedom levels is offered. The solutions 

are obtained in the form of the planned points oscillations of the sewing machine head and 
the industrial table. For the model adequacy control the calculations of amplitude of the 
planned points oscillations and the experimental measurements of the logarithmic levels of 
these points were done. As a result in was established that the error of calculation method 
doesn’t exceed 2 % and the suggested model evaluates the system oscillating level 
accurately enough.
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